- | -Form’.A(-r Paper -Se-ttingBla-nk ‘

Tlme ?We—heers/Three hours/Fem—heers/ Sneheers

(1st / Qﬂd—Semester /—RepeeeLSup&fAr'ﬁ%/Qary / Aeeeal /—B&annual)
T SUBJECT SURVEYING—II i
' (Name in fully

" Usea separate Answer-Scrlpt for each part

Ref No EX/CE/S/T/202!2018(S)(OLD)

B.C.E 2Ild YEAR 15t SEMESTER SUPPLEMENTARY bXA.MINATION 2018 (OLD)

. Full Marks: 100
(60 marks for each part)--_.... .

| Qnestion
No.

Part-I

© | Marks

R QDA |

B)

| Qo

Flll in the blanks w1th apprcprlate word(s)

4

|1
i

i,

b

Answer Questmn—l and 2 and any Two questlcns from the rest

_The distance between the vertex: and the apex of a mmple curve 1e called e, '

vt erans .. is called “Ideal Transmon Curve

. “Summit curve is one type of,..............., curve. =
. .iv'
V.

Surface float i 1s required for measurement of .iverennen. fveo of any ‘water body

.The maximum superelevatlcn recommended under normal condltlon for broad
- gauge railway track is ,........ v TR,
Vi -

In tunnel survey short vertlcal depths are measured by

, State whether the under~mentmned statements are- True or False w1th
._necessary Justlficatlons -

Along a transn:lon curve the curvature gradually decreaees

Cross rope method i 18- recommended for locatmg the scundlng statlons When '

they are scattered over the’ Water body.

“W'elsbach Triangle Method” ehmmates the chances of 1naccurate bleectmn 1
* while transferring the. surface center 11ne undergreund '

‘ Estabhsh the fundamental concept behlnd computmg the deﬂectlon angle fcr

 peg on a simple cn'cular curve in “Double _Theodcllte Methcd” of
settmg out of simple: curve. - . '
Deduce the necessary expression for forward tangent length (Tf) of a.

compound curve. comprlsmg two simple mrcular ares.
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c) Deduce the necessary expressmn for caloulatmg Shlft of a c1rcular curve.” G
VV-Q 3) N Calculate the reduced levels (RLs) of VaI'IOU.S statmn pegs on. a Vertlcal curve | 10 ' _
S ‘connecting two uniform grades of (0. 74%) and (—0 57%) The chamage and. ‘the s
reduced level at the point of 1ntersect10n are 436m- and 303 52m respectwely '
y Consxder the rafe of change of grade as- O 1% per 30m -
‘ Q 4) |"An observer talung soundmgs from a boat (0) W1shed to- locate lns posmon and N . 10
' - measured with a sextant the angles subtended at (0) by three pomts AB and C|
on the shore.. The length AR and BC were scaled from the map and found to.be |-
| 207m and 242ni respectlvely and. the angle- L_ABC was ‘12 k°48 “The obseived
o angles L.AOB and L BOC were 81°527 and 43°37 respectwely What are the — :
d1stancesof(0)£romA BandC‘? T Sl S IR
' Q-5) ‘ + a) Deduce the necessary expression for computmg elevatlon of a vert1cal control ' (6+ 4)'
B _point on the earth surface with respect to. the known elevatmn of another ' -

. =10
control statmn by the Inethod of “Reelprocal Levellmg” e L oo

b) Descmbe ‘the . “VVelsbach Tmangle Method” of transferrmg the surface
centerhne underground ehnnnatmg the- chances of 1 maccurate b1sect10n '
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~-Question no..1 is.compulsory.. ...
Answer any two from the rest
(Assume any data, if reqmred reasonab!y)

1. erte short notes on the following (any four) ‘ S B (4%5) = 20

Sl -,',"Closing error 'and its determination in a theodolite traverse

II _ Name dlfferent ﬁmdamental axes of a theodolite

L _-'Prove ‘D= lc S + c (with usual notations) in fixed halr stadia method of tacheometry
Iv.. 'Ternporary adjustment in theo_dohte survey '

- W Least count of & theodcrhte

8 - VL : ‘. :Chromauc aberratzon ina theodohte telescope

- VIL | -'fleferent parts of a telescope of 2 theodolite

- VIIL SpIre test in the permanent adjustment of a theodolite -

-2, FoHowmg are the lengths and bearing. of traverse ABCDA. The bearings are referred to the

magnetlc meridian, ‘and the magnetic declmanon is 5° W “Convert the observed bearings to true
bearings-and find the error of closure, |

. Line Length inm Bearing
RB | am | 3
BC B T
| @0 700

DA 53 TT265°




. A tacheometer is set up at an intermediate point on a traverse course AB and the following

- observations are taken on a staff held vertically.

[Sair

W.C.B. Vertical angle Staff in'tercept Middle hair -Remarks
| st | ' B i - | reading (in m) | :
A 40° - 05" 2.172 1.962° R.L.of A

B 220° T +057 1.986 1.866 =150m "

" The tacheometer is fitted with an anallactic 1ens, and the multlplymg constant is100.: Calculate the -
_iength of AB and the reduced 1eve1 of B.

15

Fol!owmg are the lengths and bearings of the SIdes of a closed traverse ABCDEA The lengths of
BC and CD could not be measured. Compute the lengths of BC and CD.

[Line [Lengthinm | Bearing
AB 217 S59°45'E
| BC 7. N62°30'E
1CD ? N37°35W
DE 283 S35720'W
EA {173 S02°40'W
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